
��������	
���	��	
��	�������

����������	��
��
���������	���	�
����	���	����

�	��������������������	���	�
����	���	����

�������	������������������

�	������	��	��������	��	������	�	���	���������	��	������	�	��	������
��������������	������ ��	�����	�!	��������	�����∀���#���

�����	����	���
 !∀#



�������	������������������

�	������	��	��������	��	������	�	���	���������	��	������	�	��	������
��������������	������ ��	�����	�!	��������	�����∀���#���

∃	%�� � �&�	�	����� � ���� � �	∋������ � &���
∋����������� � �� � �	������ � ������������ � ��
�������� ��	 ��
��
�������� � 	���	�
��� � 	
��	��������(��������������	������������

)�	� � �	 �����	�������∗ � ��+����� � ��,����� � 	�
��	����∗��������−���	���−�����	��&��&���������
&�����.���������	��������	�����	�����	����

/��	�������∗������0�1��0�2���������	��	���	�	��

�����	����	���
 !∀#



��∃�2/
�34/�5��(/5∃6
(���

����������	
��	�
��
�	�������











���	��
������
�
����	���
�����	��
����
���
����

��������−��&	����&�������������7������	���	��,�����−����	&�����������������&��������	���

����	������0

8888888888888888888888888888888888�����������������8888888888888888888888888888

���������������� 1���

�#9: ������−��������	�����������
���/�	�������	�;���
�������)������	�������������������������	����

����	����∋����������∗��	��	%<	������	����	�������������&	��+�	��=��������	�
�����������������0�>������	����	���−� !∀#0

���∀:!��0�∗���0

���/��	�������∗������0�1��0�2���������	��	���	�	��0
���1���	�������?�	�������	���	�
����	���	����≅�>����������

�	��
��
���������	���	�
����	���	����−�(��������������	������������−�
 !∀#0

�����������∀0�;���
����>�6������	�	������>�)�����0� 0�1����	�������∋���,������0�
���������������������90���∋������>����+�����0�Α0����	��;���
�����5��������?������≅0�1��������	
����������������������∋�����;���
����0�Β0���	�	��−�2���������	��	0�ΒΒ0�∃,����0

�11∗�Χ∆!0!:∀!#∀



�������	������������������

�	������	��	��������	��	������	�	���	���������	��	������	�	��	������
��������������	������ ��	�����	�!	��������	�����∀���#���

∃	%����&�	�	������������	∋�������&�����	�	��
����	���������������������������������	��
��

�������� � 	� � �	�
��� � 	 � ��	���� � ��
(��������������	������������

)�	� � �	 �����	�������∗ � ��+����� � ��,����� � 	�
��	����∗��������−���	���−�����	��&��&���������
&�����.���������	��������	�����	�����	����

1	�	������	��&�������	�∗
������	%���������

88888888888888888888888888888888888888888888888
�����0�1��0�2���������	��	���	�	���?/��	�������≅
(���

88888888888888888888888888888888888888888888888
�����0�1��0������Ε�����������	�
(���

88888888888888888888888888888888888888888888888
�����0�1��0�Φ������������	����	����Β������Γ�Η���	��	Ι
ϑ6��

�����	����	���
 !∀#




�∃%&�

�/Φ∃�Φ−��������	�����������0��
������
 �
!��
∀���
 �
#∃����
�
 ��
�∃�������
��
�����	
�
�� 
 ∃��
�� 
��%&��∋�
����∗ � �	��	%<	� �����	����	������� � �����&	��+�	�0 ���� ��	����	���− � !∀#−
∀:!�0� ?�	������ ������������� � 	���	�
��� �	 ���	����≅ �> �����������	 ��
��
�������� �	�
�	�
����	���	����−�(��������������	������������−������	����	���0

∋�(∋�	)�	
�∃%&�

�� &�	�	��	 � ����	������ � ��������+ � � � ∋�	���� � �	 � 	��,���� � ���=�� � &���	������=	� � 	�

�	�	�����	�	����&�
&�������	��������+�������&�������	������	������	���∋�����	�����Ε���

∋�	������	���	������	��	�������	�����	�����������<	���	�����
���−��	���������	�������	�����

�����	��;���
�����5��������>�	�&	�������	��	����	�����	���∋�����;���
�����>�	���
�	���
 �

(��&)��
����
��∃����
�
��
∗����
��
�����	+
�,�&	�
−.//
��
−−−�&���������&	����	���0

∗�������+�,�����;���
����	������������)������	����������������	����Κ�6���������+����Κ����	�

;���
�����5�������Κ�1����	�������∋���,������



−�∃∋
−
∋

�/Φ∃�Φ−��������	�����������0�0��
0�������
�∃
!��
��1
�∃
2∃����
�� 
2∃������
��
���3�	
�� 

��
�������	
��&�����
��∃	��
����
��
��
�� ��������	�
)��
���0 ������	����	���−� !∀#−�∀:!�0
?�	��������������������	���	�
����	���	����≅�>�����������	��
��
���������	���	�
����	
��	����−�(��������������	������������−������	����	���0

∋�(∋	��	∋��	−�∃∋
−
∋

∃Λ	�&�	�	�������	��������Μ������������ �Λ	�����	���� �Λ	�	�������	�	������ �	��Λ	�����

�	�	��&��Λ	����Μ���	��Λ�������	�������������Λ����������	��������������Λ	�����	�������	�����

�Λ	�	������	�������������Ι�������������−�Λ��������������	�����Ι��Λ	�5��������;�����Ι����	��

���&	��������Ι��Λ	�;�������������Λ��	�������1����	���������������������Λ	�5	�������������−

∀:�Λ���� !�Λ��	����Ι−�&�����	���Ι��Λ	��	����0

.�/0������ ;�����Ι���� �������	 ��� ������� ��������������������Κ ������ � 	��������Κ �5�������

;�������������	��Κ����Λ�����1����	���



−1������!�����

�����	���&����Ν	���2Ο����	�����	�Π����Λ�������∃�,�−�&	���&���7����−��&����	������������	��

�	������−�&�����&���	��	��	��	����	�����	��������	�����	����Ο����0�

Θ����Λ� ����	������� �2�� �������	 ��	 ���	�	��− �&�� � ���� ����	����<	�− �∋�	 ��	 ��Ρ��������

���������������Ε��������	�Λ������	����&���,�	�����������&��Ρ	���������������	������0�

Θ��&���	������������Ε�����������	��	�Φ.�����������	����	����Β������Γ�Η���	��	Ι�&	���

����������<	� � ����� � �� � ∋�����������− � &��� � �	�Λ�� � �	�	�������	��� � �� � &	�∋���� � �∋��

�&�	�	�����0

���������Σ�������	��	������−�1���	����
��	������Φ������	�����	�����	�	���������Λ�	��>

�	�&	������	��	− � ���	���− � ��∋������� � 	 � Λ����������� � �� ����	� � ;���
���� � 5������� � > � &	��

��	���������	�����Π����Λ��&	�∋����0

�������������	� �(	��	���− �������	�&	���� �∋�	����������	���∋�������������ϑ5Β�Β/��	

����	�	�− � &�� ��	 � ��%����� � �� � �	����� ��� � �	%�� � �����0 ������ ����� � Π ����� ������ ������−

&���	���������ϑ5Β�Β/−�&��������&������	%&	��	��	0

Θ � ����� � ���	��� ������	��− � &	��� � ����	���� � ����∋����������� � ∋�	 � ���	��� � �� � ����� � ��

�	������0



2����	��	������������	�	��1���

�6��>��Τ������	�6���������+����

�56�>�����	�Λ��5���������	�6�������

6���>�6�������������������	��������	��	��	

Β56��>�Β���������5���������	�6�������	��	�∋������6��������������,����∃	�%	���

Β�;�5�>�Β������������������.����;���
�����	����,������5�������

21��>�2	���	�1��	����	��	����	�����6��������5�������

�6��>�������Ε�������6�������

�;5�>����	��;���
�����5�������

�56�>�������5���������	�6�������



����������	
�����
��
Β����������∀∗����	����Β������+�����������−�ΥΧ�00000000000000000000000000000000000000000000000000000000000000000000000#∀
Β���������� ∗����	����Β������+�����������−�∆Υ�00000000000000000000000000000000000000000000000000000000000000000000000# 
Β����������9∗����	����Β������+�����������−�:!�00000000000000000000000000000000000000000000000000000000000000000000000#9
Β����������Α∗����	����������(	�����	������	����Ν������?����	��	�Φ���Φ����≅����Φ��!∆00000#Υ
Β����������Υ∗����	����������(	�����	������	����Ν������?����	��	�Φ���Φ����≅����Φ��!∆00000#∆
Β����������∆∗����	��������	������	�������5��&!:00000000000000000000000000000000000000000000000000000000000000000##
Β����������:∗����	�������������	�������	����	�/���	����������900000000000000000000000000000000000000000000000Χ∀
Β����������#∗����	�������������	�������	����	�/���	����������900000000000000000000000000000000000000000000000Χ 
Β����������Χ∗����	�������������	�������	����	�/���	����������900000000000000000000000000000000000000000000000Χ9



456
2
���
∀���
�∃������+
�
��� � ����
�)���)
 �
������
����	�3��7��+
 ���

��
&)
	&���
�)����
�
���
�&��∋�&	��
����	����+
�
��
��������
 ���)
���
�	��
� �� 
 ���� 
 � 
 ∃�
� 
  � 
 %&� 
 ���� 
 � &����� 
 ����
�
&� 
 &)� 
 ������
� 
 8�
 ��
���7�� 
�����
�� 
 �����
� �� 
��	� 
��9���� 
�&���,�� 
���� 
�����&��� 
 �&�
 �)������:
456
&)�
����� � �
��&�	�
����
�)

� ��
�� 
���
� ��+ 
��������
�
 �
%&�+
���� 
 �� �� 
 ��� 
 ��&�	�
���� 
 �� 
 ���
� � 
 �����	+ 
 &)� 
 ����� � � 
 �������
�
������)��
� 
 ��;��
�� 
�� 
 ∃&� �)��
�� 
 ������
�)��
� 
 �����
�� 
 � 
 ���)� �
����	�3����
��� ��
�	<����
�:
=∗2��/>�∗0�+
?�≅�+
�:
�Α<�Α
2ΒΧ(
∆Ε����+
�ΦΦ�+
�:
?�Γ:



�
�����
∀�Β5∃�/1ϑ34/000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000∀∀
 �ςϑ6Φ∃Ω6Φ��/�Β2ΒΞ�1/��Φ∗�1/�ϑ�65∃/Φ−�65ΦΒ5/�16�;ΒΦ∃Ψ�Β�−��ϑ2∃ϑ��
6��6�Ψ�Β�0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000∀:

 0∀�2Β5
ϑ�
6��6��2ϑ��2Β1�16��ϑ2∃ϑ��2�5��61ϑ��34/����ΦΒ26Β�� 9
 0 ��/5Φ∃�ϑ34/�1��Β165∃Β1�16�6�1��5�34/�5��Φ/�Β61�16����ΦΒ26Β��
00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000 Χ
 09�65ΦΒ5/����651ΒΞ�
6��16�;ΒΦ∃Ψ�Β��6�/�16Φ65Ν/2ΝΒ�65∃/�16�
���Β∃�2��ϑ2∃ϑ��20000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000009 

9�/��Β5ΒΦ∃Ζ�Β/�1��61ϑ��34/�6�/�65ΦΒ5/�16�;ΒΦ∃Ψ�Β�000000000000000000000000000000000000009∆
90∀�1ΒΦ�Β�2Β5��Β1�16Φ�5��
6Φ∃4/�6Φ�/2���Β5Φ�Β��1/�6��/2
���/��/
00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000ΑΑ
90 ��/5ΦΒ16��3Ω6Φ�Φ/��6�65ΦΒ5/�16�;ΒΦ∃Ψ�Β��1��)(�Β���6�1�Φ=/Φ�
�(�/����ΦΒ26Β��Φ=/Φ�5��61ϑ��34/��)ΦΒ��000000000000000000000000000000000000000000000000Α∆

Α�Φ/��6�/Φ�Β5Φ∃�ϑ�65∃/Φ�16��6ΦςϑΒΦ��6�/Φ���ςϑΒΝ/Φ�6���ϑΦ6ϑΦ∗�/�
��∃)2/
/�1��1/�ϑ�65∃�34/��6(6�65∃6��/�56
�/�5/����ΦΒ2−�ΦΖ�ϑ2/�
[ΝΒΒ��/�[[�?��ςϑΒΝ/�;ΒΦ∃Ψ�Β�/−��ϑΦ6ϑ�;ΒΦ∃Ψ�Β�/�5��Β/5�2≅00000000000000000000Υ#

Α0∀�Β5Φ∃�ϑ�65∃/Φ�16��6ΦςϑΒΦ�00000000000000000000000000000000000000000000000000000000000000000000000000ΥΧ
Α0 ��/5�6Β∃ϑ�34/�6��/5∃6[∃ϑ�2ΒΞ�34/�16���∃)2/
/000000000000000000000000∆∀

Α0 0∀��Β5(/���3Ω6Φ���6Φ65∃6Φ�5/���∃)2/
/�1/��ϑΦ6ϑ�;ΒΦ∃Ψ�Β�/�
5��Β/5�200000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000∆ 

Α09���ςϑΒΝ/Φ��∴�2Β�/Φ�6���ςϑΒΝ/Φ�6���ϑΦ6ϑΦ�>�/���Φ/�1/���ςϑΒΝ/�
;ΒΦ∃Ψ�Β�/�5/��ϑΦ6ϑ�;ΒΦ∃Ψ�Β�/�5��Β/5�200000000000000000000000000000000000000000000000000∆#

Α090∀����Β�34/�1/��ϑΦ6ϑ�;ΒΦ∃Ψ�Β�/�5��Β/5�20000000000000000000000000000000000000000000∆Χ
Α090 ����/�
�5ΒΞ�34/�Β5Φ∃Β∃ϑ�Β/5�2�1/��ϑΦ6ϑ�;ΒΦ∃Ψ�Β�/�5��Β/5�2�
00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000:!
Α0909���/5Φ∃Β∃ϑΒ34/�1/���6�Ν/�6�6Φ∃�ϑ∃ϑ��34/�1/���ςϑΒΝ/�
;ΒΦ∃Ψ�Β�/00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000:∀
Α090Α����6Φ6�Ν�34/�1/���6�Ν/���6Φ65∃6�5/���ςϑΒΝ/�;ΒΦ∃Ψ�Β�/000000:9

Υ�ϑΦ/�1/Φ�Β5Φ∃�ϑ�65∃/Φ�16��6ΦςϑΒΦ��6�1/Φ�1/�ϑ�65∃/Φ���ςϑΒΝ]Φ∃Β�/Φ
5��61ϑ��34/��)ΦΒ��000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000:∆

Υ0∀����∃Β��51/��/ΦΦ]Ν6ΒΦ��5)2ΒΦ6Φ�16�∃����2;/��/��1/�ϑ�65∃/Φ�
��ςϑΒΝ]Φ∃Β�/Φ00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000#!

∆��/5�2ϑΦ4/00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000ΧΑ
��6(6�⊥5�Β�Φ00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000ΧΧ

�(/5∃6Φ0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000ΧΧ
��Β�2Β/
��(Β�000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000ΧΧ

��56[/0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000∀∀!



∀∀

� ����������

��&�	�	��	�����	������−��	�	���������&����������������	��
��
���������	���	�
���

	 ���	���� � �� � (������� � ���� � �	 � ��� � �������− � ������	 � �� ∋�	���� � �� � 	��,���� � ���=��

&���	������=	��	��������	������������	����������	����	��������+�����	�&������+�������&�������	

�����	���� � �	 � ��∋���� �	 � ����Ε� � � � &����	�+���� � �	 � ��	��� � � � 	��	� � �����	���� � 	�

���������<	� � �	 � ����
���− � �	��� � ���� � 	����� � �	 � ���� � � � ���	� � ;���
���� � 5������� � >

	�&	�������	��	����	�����	���∋�����;���
�����>�	����������	�����	�&	�∋������	�	���������&	��

�	����?���+����≅0�

/��	������&����������	�	�����	������������	�����	�&	�∋�����	��∀Χ##−��	��������

��
�	���
 �
(��&)��
����
��∃����
�
��
∗����
��
�����	+
�,�&	�
−.//
��
−−−����∋�������

���������	��	�����������������	��	������	��������������������	�����������	����	��������	��=�

�	���=�����������0�5�����&,������Α�	�Υ��	�����	�	������������+���	����������&�	���	�&�������

����	�	��	��������	�����	�&	�∋�����	�����Ε������	�������������	�����	����Λ������	�	�−����

���	��<	���	��&��������&������������	��Ρ������Π�=��������	��	�0

��������&�������<	� ����+�	����∋���,�������&������&����� ������ ��	������������	����

��∋����� �&��� �� � ����	���	− � ���� � ��� � �&�	�	����� ��	��	 � ������Λ� ������ � �	%�� ��	 �;	��,��

�	������ � &�� � 	%	�&��0 �������� � ∋�	��<	� � ��� � ���������� � �	���� � � � &����� � ��������<	� � 	

	�����������	�����������>�������������	����
��	��	�������Ν�����������Φ���������	����? !∀∆−

&0�∆ ≅��&������&��������	�����	��∋�	��<	�∗

_α�∋����������������∋�	��	������	��	�����������	���β�∃	�����&���	����	�
	���∋������������	������	��������&��	������	�����������������∋�����β������	
��������	���Λ	�	�������∋���������������	��	����	��	��������−��	����	�����	
�&��� � &��� � � � �	�	�������	��� � �������������β �1	 � ∋�	 ����	��� � 	������ � 	
��∋������&��	������	������&�����Ρ������������������	���������β

������&������
��	��	�����	���−�������������<	����∋���,�������&Ο������−����	������

&Ο������ �	 ������� � ���������<	� ��	 �����
��� �&Ο������ �&����	������� ������	��������	 ������

&	����	��	 � 	 � ���+�	� � Λ���
���� � 	� � �	�� � ��	���� � ∋�	 � ��� � ��� � �	�����	��	 � ��	������ � 	

����������0 �∃���������	�����χ&��	���Ρ���� �� �	��	��	� ���&�������Λ���
�������������	− ���

	������	��	�������&�,�δ−�&��Ε��χ&���������������������&����������	�&���	����	��	������

�	������ � �	 � &	�∋����δ � ?
/�6ΦΚ � �/5∃6Β�/− �  !∀∆− � &0 � ∆ ≅− � ���	��	����� � ����� � ��

�&��%�������	���	�����	���	�	���∋�����0

Φ	�+��&�	�	�������∋���������,���������	�����&�����������	��	���	����Π������������	

���������	�����	�����������<	���	�����
���−��&��������&������∋�	�������	�������������Λ����



∀ 

6����� � ?���������<	� � &Ο������≅ � 	 � �	 � ���������<	� � &���������	� � ?	�&�	��� � &������� � 	

&	�∋���������=	�≅�������&��������������	��	��������	����0�6������&�����������	�&��	�	����

������������7������	�&��Ρ	����	�&��,�������	��	�
������������������<	�0

�	���������−�����	����Ρ	������	���−�Ε−���������+���	����������������&����	����	�����

�	����������������	����&�	�	����	��?;���
����	���∋���������≅−��&�	�	���������������+�����&��	

��%����� � �� � ��������	� � ��=� � ��∋������� � 	 � ��=� � Λ����������=� � �	 � ��������� � �������	���� � ∋�	

����	�����	�� ��������<	� ��������� �&��� � ��=�� � &	�∋���������=	� � ����	 � �	��� � 	�&	�,����� � 	

����Ε������ �	����=	� � &������������ � &��	��� � ��%����� � ��=�� � &���	������=	� � �	 �;���
��� � ��

	%&�������	�&����	����������������������<	������	���;���
�������)������	����=������������=��

���������0

ϑ���	��������Ρ	��������&�	�	��	�������Λ��Ε����	���������	�������������������������

�����	������ � 	 � �� � ���������� � ��� � � � ��� � �� � &	�∋���� � ?	�&	�������	��	 � �	��� � &	��=�

Λ����������=�≅�	�����Ε��������&�+��������	�������	�;���
���0����Λ���&�����&����∋�	��<	�−�∋�	

����������������Λ�−������∗�

∀0 � ���� � ��=�� � &������������ � �	 � ��∋��������� � 	 � ;���
��� � ����������� � �

�������������	�������������<	��	��������	�&	���������������	�β

 0 �/� � �������	���� ��	 �&	�∋���� �	���������������� ��&	��� �&��� �&	�∋����� ��	

���Λ������7����β

90 � ���� � ��=�� � &���	������=	� � �	 � ;���
��� � &��	���� � �&���	���� � � � ���	����

��∋���,����� � 	 � Λ���
���� � ���&��,�	� � &��� � �	�	�����	� � � � �	�+���� � χ;���
��� � 	

�������������������	���δ�&�	�	��	�����	���������������	���β

Α0�������	�������������+���	�����	�����������	������	�&	�∋������������&�������

�����	����ε�Χ09ΧΑ−��	� !��	��	�	������	�∀ΧΧ∆−��ε�∀!0∆9Χ−��	�Χ��	�Ρ��	�����	

 !!9−�	��ε�∀∀0∆ΑΥ−��	�∀!��	��������	� !!#β

������ � �	������������ ���Ρ	����� ��	���� �∋�	������������������− �Λ+����������Ρ	�����

	�&	�,������∋�	�������&	��	������−�������	�	�������	����∗

∀0������������	���������	��������������������
�	���
 �
 ��&)��
����
��∃����
�

��
∗����
��
�����	+
�,�&	�
−.//
��
−−−��	�	���������&	�����∋�����;���
����−

���	��;���
�����5�������Κ�

 0 �Ν	������� �∋�	 � �	&�	�	����<	� � ����	 ��	����=�� � �&��	�	����� ������ � �������

�����−� ����	�������&�����<	�������������	������	�&	�∋�������������Π���	����ε

Χ09ΧΑ=Χ∆−��ε�∀!0∆9Χ= !!9−�	��ε�∀∀0∆ΑΥ= !!#0

��	��������	��������	��������	��&��%���������	����	�����	������Φ������?∀Χ##≅��	��	

�������������Ρ	���&����&��	��	���	�	��>��	���������	����&��	��	�����������∋�	������	�∋�	����



∀9

	�����	�	�����	��	��	������	�������	�����−�	%	��	������������Ε����	��;���
���−��&	�����	��	�

�������������	�����	��������−�&��Ε�����Λ��&��%������	�	��	�	����	����	�����Λ����&��

��������∗ � Λ����������� � 	 � ��∋�������0 � (�� � ������Λ���� � ��� � �����	���� � 	 � ��������<	�

��∋���,������− �&�����&���	��	 ��� ����	� �;���
���� �5�������− �∋�	 � ����������� � ��∋��	���<	�

����	���+�	���	����7�����	��������	���������+������	�&������+�����0

6� � �	�	�7���� � �� �������Ε��� � 	� �;���
���− � �φ�� ��γ�	� � �	�	�����	 � � � ����	��� � �	

1��+���� � �� � ;���
���− � ∋�	 � 	�����	 � ∋����� � &�����������	� � �	 � ���	�<	�∗ � ∀0 � �	��������� � 	

��������� � �	 � &���	������=	�− �  0 � �� � ����<	� � 	 � �� � ���� � �� � Λ���
��� � �� � ���� � &Ο�����− � 90 � �

	����	�	���	����	����	�����������	��	����&������	��������Λ���
���������	������−�Α0���+���	

�	������������	��− ��������	���&���Τ��������������7�����Λ���
�����?26�2−� !∀ ≅0 ���������

Ξ������? !∀Υ≅−���1��+��������;���
�����	��	������	����	��������&�+������	�	�������	�;���
���−

	�������� � &	��� � &�
&����=�� � &���	������=	� � > � ���� � �	���	�	 � Ξ����� � ? !∀Υ− � &0 � ∀#Α≅− � χ�

�	���������&�+�����∋�	���������&�+����������&���	����	�δ∀0��

1	���������������Ε��������2��Τ�	��? !!Α−�&0�Υ≅−�χ�����+������	�������&�����������

� � ����� � �� � ∋�������	 � ��������� � ��� � �&�	������	��− � 	���− � &�� � ��� � �	�− � ��������� � Π

�&�	������	���� � &	����δ− � ��%������� � ��=�� � ������=�� � � � �	 � ������	�� ��Ρ	���� � &	�����	� � 	

��,������	�����������������Λ�����−�������������������−�������−�Ρ�����−��&������&������&��������

	���������	��	���������������− �&��,����− �&����������� �	 ���������0 ������+����− ��	��������	���−

	�����	�&���	������	�	��,�����������&������	�����	��������������=���������=��−��Ρ�����������

�	�	�����	�����&	�7������	�Λ��������	���	�����0�

6�����∋�	��<	������	����+���������������&����γ�	�−�Ξ������	�2��Τ�	���	��&��%����

��������	������	�	����������&	���������Ε�������6��������?�6�≅�	�����	�Λ��5���������	

6��������?�56≅−�&�	�	��	�����������	���������������&�	�	������������&,�����χ/�������Ε���

���6��������	���	�������	�;���
���δ0����&�	�	������������	��������	����+����−�Β�������Λ����

�	 ������� � ? !!:≅ � ������	�� � �� � ����� � ���� � �	%���− � 	��∋�	 ��� � �����	� � ?&���	������=	� � ��

�����&�����	�������;���
���≅��������Λ���
�����Π�=��������=�	����	������=	��?	�������	�≅0�6����=	�−

����	�	������	%����?������	����������≅−��	�����������������������<	������&�	�	��	�−������������

�����������Λ	���	����Λ���
�����	������0�������−������������������������	�−��	�	��	�����	��

�	�∋�	���	�������	�;���
��������Ε����	�����Π�&������������7������	�;���
���0

������<	��&���∋�	−������&���	����	�−��������������Λ���
���−����<	��∋�	����
��� � 	%��������	��	 � ������− � ���	���� � � � ����� � �� � η	�&	������ � ��Λ	��η− � ��
	����Λ�� �∋�	� ���	��� ����� �	%��� �∋�	��	 �������	�	�	�0 �ϑ����	�	����∋�	
���	�� � � � ��� � �����	��� � Π � �	����� � 	���	 � �� � �	%��� � Λ���������+�����

∀ χ2���	�������
��&�+������∋�	���,������&�+��������	�����&���	���	�δ�?��������������≅0



∀Α

���&��,�	���	���������	�Λ���
����	��&���	�����	�&�������−��	���������	�
	��������	��&�	�����0�_α���	%&��������	��������	�	��������	�����������Ε
������������ � �� � �	%�� � �	 � ��� � ����− � � � ���	�	��� � 	���	 � ����� � �� � �	%���
������	�������������&	���������������−������	��∋�	����	%������������Ρ+����
�	 � ��������	 � &�� � ��� � ���	���� � ��������− � 	 � ��� � &	�� � ���	���� � �	 � ∋�	� � �
��������− ����− � ����	����− � ����������� � � ����	�	��� � 	���	 � �� � ���� � &�+�����−
�����������������<	��&���∋�	��∋�	�	������	���−����∋�����	���������&������
����−�����������	�	�+��	����0 �

_α�������������	��	�����&�+�����∋�	��	��	���������������−������������
�	%���������	%����	������������&��&�����∋�	���������������������������	���
���	�	����−�������������	������	�−����	��	�
�����	�	%	����	������������0�6−
�����−�����	��	���&����	����	������&�
&����Λ���
���09

��=/��&���	������=	���	�	���	����	��������	������������	�	�����	���	���=���������=��

����������������?���	�	�����&	������−��	�����	��	�	������−��������−�����	%����������	���������−

	��≅− � ���	��	����� ���� � ��&�� ��	 � ��∋��	���<	� �∋�	 � 	�	� �&��	�� �������� �������	 � �� � �����0 �/

����	��	�	������������	�	��	&��������Λ����	�	����	−�&�	Ρ����������?������&���	�	���≅��

	�������&�	������	�����=�������	��	�0�������	���	�	��������? !!:−�&0�∀Α≅∗�χ	��������	�	����

�������	���	�����	�	���������������&����&	������������&���������	����������������	%��δ0

6���� � ��������<	� � 	���� � &�	�	��	� � ��� � �����	���� � �� �������Ε��� � �� � 6������� � 	 � �∋��

�	&���������	��&���	�������&,���������	����0

/�������	�������∋���,�������&��	���	�������������������	���������−��	���	��+����

&���,�	��− �&��� ���������� �� ����Λ	���	��� � Ρ���� �Π�=��� �������=��− �	�����	�	��	� � ������ ��	

�	%����?������	�������&���Β�����������≅0�/����	����	���������� ���
�	���
 �
(��&)��
����

��∃����
�
��
∗����
��
�����	+
�,�&	�
−.//
��
−−�����	%	�&�����	��	����	�����	%���������	�

&������������������	���������	�;���
����	������������������	������������	���0�

������	����� � � � 	����� � �	 � ;���
��� � ���� � χ� � ���	��	�7���� � �	 � ���+�	� � �	

�	�	�������	��� � ���������− � ��&�� � �	 � �Ρ���� � � � ����� � � � ����� � ����� � &����� � &��� � � � ���

��&������	��	�&	����−��	������	�����������	����������	�&�δ�?�6��Β−� !∀!−�&0� :!≅−������+����

���;���
����	%��	�����	���	�������	����������Ρ	�����������&�����	�−�&�	���&������	������

��������	������	��	�∋�	���	�	�	�+����������=��&���	����=���	�;���
���0

_α� �5�������	%����	�����	��	���������������	������	����	%&������������
�	�&��	�∋�	��7����&�	�	������	��	����������	�����������&	�����−������Ρ	�����
�� � 	����� � �	��������	 � &��� � &������� � �	 � ��	������	� � ∋�	 � &����� � �	�
�	��	����� � 	 � ��������� � �	�	���� � 	 � ��������	��	 � &	�� � ��Ρ	���− � 	� � �	� � �	
��&�������	��	�����0�6����������	����−������Ρ	���������	�������	��������	
&������&���������	���	������	���������������������−��	�������&�����

 ��∃∃/Φ−������������	��	������βι−�&0�∀90
9 Β�Β10−�&0�∀Υ0



∀Υ

&�	�	������	���	������	����������+�	��0�_αΑ

������������ �&�����������	� ��	 ���+���	� ��� �;���
��� �	 ��� ���∋���������− �	���� �+�	��

&�������������	��	�&	�∋������&�	�	�����	�	�	�������������������	�∋�	��<	���	��������Π��	�
���

	������	����Π�����������−�∋�	�&��	������%������������������������	�
�������=����	����=�����

������0�6��	�������Λ���&�	�	���������Λ�������	�	��	��	�	�	�������&������������������∋�	����	

�����Λ������������	��������∋��������	� ����Ε���&�	�	������������&�������	���������	���	

	����������+�	���?���	������&���������	≅�	����&�����������	��	��	��	�	�	���������������������

�	�
��� �	 ��� �Λ���
��� ����=�� ��	����=�� ��� �������− � ������	�������� � �	�� ��ε �Χ09ΧΑ=∀ΧΧ∆− ��ε

∀!0∆9Χ= !!9�	��ε∀∀0∆ΑΥ= !!#0

���	�� ��ε�Χ09ΧΑ=∀ΧΧ∆Υ� 	����	�	�	�������	����	��	����	�����	����������������Κ����	�� ��ε

∀!0∆9Χ= !!9∆����	�����2	���ε�Χ09ΧΑ−��	� !��	��	�	������	�∀ΧΧ∆−�∋�	�	����	�	�	�������	����	��	

���	� � �� � 	������� � ��������− � &��� � ������� � �� � ����,���� � ������� � �� � �	�	 � �	 � 6����� � �

����������	���	�����	�+�����χ;���
����	��������������������	���δ−�	��+��������&�����7�����Κ�	��

�	���ε�∀∀0∆ΑΥ= !!#:����	�����2	���ε�Χ09ΧΑ−��	� !��	��	�	������	�∀ΧΧ∆−������������&	���2	���ε

∀!0∆9Χ−��	�Χ��	�Ρ��	�����	� !!9−�∋�	�	����	�	�	�������	����	��	����	�����	����������������−

&�������������������,�����������������	�	��	�	������������������	���	�����	�+�����χ;���
����	

�������������������	����	�Β��,�	��δ0�

����	�����&���������������,������	�������	�;���
����	������������)�����−������������	���

	����,�	����������,��������6���������+�����	�Φ�&	����−�	����	�	�	�������	����	��	����	��&���

∋�	 � �� � 	����	�	���	���� � 	����������� � &����� � ������Λ��− � ��� � ��=�� � ������=��− � ∋�	��<	�

�	�����������Π�������������&�&�������������	����	���������−��	������������	%������Λ���
���

���������	���	����	������	����	�������−��	���	���������
&����0�;���
����	�6�����������,�����

�������&�����&���������&������	������	��&������	�������	�;���
����	������������)�����−�&��Ε�

�������&��	�����&�	�	�������������Λ���	�	��������−������2��	������−�
	��������	�6�������

(,����−�&���	%	�&��0����	�����	�����	%	�&���&�+����������	�������	&�����	������������6%���−

���������� �Β��∃������ 
 ���	&� 
  ����� 
 �∃������� 
 �) 
 ��� � 
 �&����&	�� 
  � 
 ����	� 
 �Η�	��� 
 �


����∃��)�
��)&�� � �−����∋������&���	������Ν��	����
������	�−����6������������&�����,���

Φ&,�����∃	�%	����?�������������������������	�/���−�	��1�∋�	��	���%���=��≅−�	������Ρ�����	

���������������������������������	����	���������χ�����	&�	�	�������&�����������������	����	

���&	� ��� �����	 ��� � ����	������	���������������� � ������ ����+�����δ �?�5
62Β− � !∀:≅0 �/

������Λ� � �	������� � ���������� � &��� � �	�Λ���� � �� � �	���<	� � ���	�&	������ � ���=�� � ������=��−
Α �6��Β−�1��+������	�;���
���−�&0� :∀0
Υ 1��&��,�	��	�∗�Λ��&∗==ΜΜΜ0&�������0���0��=������8!9=�	��=�Χ9ΧΑ0Λ��0�
∆ 1��&��,�	��	�∗�Λ��&∗==ΜΜΜ0&�������0���0��=������8!9=�	��= !!9=�∀!0∆9Χ0Λ��0�
: 1��&��,�	��	�∗�Λ��&∗==ΜΜΜ0&�������0���0��=������8!9=8��� !!:� !∀!= !!#=�	�=�∀∀∆ΑΥ0Λ��0�

http://www.planalto.gov.br/ccivil_03/_ato2007-2010/2008/lei/l11645.htm
http://www.planalto.gov.br/ccivil_03/leis/2003/l10.639.htm
http://www.planalto.gov.br/ccivil_03/leis/l9394.htm


∀∆

	��������������	�&	����&������	��Ε�������������Λ��	��	∋��&	−���Ε���	��	�	�����	����&	����

����������−��
������	�����−�&���������	��	����������0

��&�	�	��	���+���	��	����+���������&���,�	����	������������	��	���	����	�����������Ε

	��������	��	�	����	������	��	�������	�����0�Φ	������Φ������?∀Χ##≅−�������������������	�����	

&	�∋���� � ����Ε�� ��7� � &�����&��� � ���	���∗ � � � ���	�� � �� � �	�&� � �	 � �	�	�	 � Π � ���	�	������� � ��

���Λ	���	����	������−����	�����������Τ������	�&�����	���	���Ρ	����	���Ρ	��−��	�	��������������

������	������	�������Λ	���	�����������Τ�	�Κ������	�����������Τ������	��	�	�	����	������	���

�	����Λ	���	��������	�����Ρ	���&����&��	��	���	�	������	�	�	�	�����	�	��	��	����Λ	���	���Κ

	������	������&	��&	��������������	�����	�	���	�	��Π�����	�������Ρ	���&����&��	���	���	�7���0

/�&�	�	��	 � ������Λ� � �	 � ������ � Π� ��������� � �	���������� � �	�������� ���Ε � !!#��� �	����� ��	

;���
��� �	 ������������������	 ������������	��� ����6���������+��������������− �&�������� ��	

�	�Λ�� � �	�	�������	��� � �� � &	�∋���� � �� � &	�,��� � �� � �	������ � ����7����0 � /����	���

���������������	�	��	���������,�����������	���− �&�����&���	��	�������	���
��	����∃	�	�−

&��Ε�������	����������	�������	��	�������Λ�0

/�������Λ����������	���������	���∋����� �&��	��	�����&������������	%	��,�������

���	��<	��&�	�	��	��������	�����	������������������	����0�/�������	�������∋���,������

������� ��� ����+���� ��	�	�������� �&	�� ����	� �;���
���� �5������� � �	����&�����������	 ��	

�	����� �&�������	��	 �������	%��������� ����=�� ����������=�� ����������0 ������	���	�	�2�&	�

?∀ΧΧΑ− �&0 �∀∀≅− �χ������Λ� ��	 �����	���� �	���� �����	�
���� �	����&��	� ��	 � ������ � ���	� ���

���&�		������	����&������−�∋�	��	������������	��&�	�	��	�	��	�&��Ρ	������������δ0

������	��������	���������	�	��∋��������&,�����− �	��∋�	���&,����� ��������∋�	��<	�

���������������	�	�	��	�����������	����−�	�����−���������	��	�
���0�/���&,�����9��	���	��

	�������	�;���
���−����������������	������������6���������+�����	���&�������	������	����

������������&�������������&	���������Ε�������6�������0�/���&,�����Α�	%&<	���������<	������	

�������	������	�&	�∋����−�&�����&���	��	�� ���
�	���
 �
(��&)��
����
��∃����
�
��
∗����

��
�����	+
�,�&	�
−.//
��
−−0�6−�&������−�����&,�����Υ��&������������	%	�&�����	������	����

��∋���,�������	�&�����������	���	�����&	���=���&���	������=	����������=�	���������=��0



∀:

� ��������� �!���∀#���#�∃���%� �����&�������
���∋���(��#&�%�����#��� � (��#

/������	�����	���∋������	�����+�	��&�����
����&����	&�	�	����−�&����	������	������

?�� ������� � ������ ��	 � �	������≅− � � � ���� �∋�	 � �Λ	 ������− � �&�	�	������ �����������∋�������	

�	��	%����������∋������	�������������	�&������������������������−��	�����	��������−��	�����∋��

������	���� � � � ����� � &���+��� � �	��	 � �����	���0 ��� ����� � 	 � � � ����	Ο�� � ��� � �����	����

��∋���,������������������&	��������������−�&��Ε��������	��	�������������	���	���0

�����	%	��	���	�����+�	��&�����
���−�Ε���&������	�∋�	��������	������∋���,�������	�Λ�

�&	�������������������	�	����������	��	��	�����0�/�������	������	���∋��������	��&���	��	

������Ρ����������	���������Τ�����	���	���−�&��&��������������	��������	���	��	�������	����−

�	�����������������������∋�	����&��������	��������������	��	�����<	�0���������	�,����������

�������	��������	�����	������	�����	���∋�����Ε�������&���������	���������������	������	���−

�	����	��&�+����−��	�����	������	��������������	�	������	�Λ���
����0������2�������1������

?∀ΧΧΑ−�&0�∆∀≅−�χΕ� 	��	������∋�	������∋��������−�������∋���������Λ����������	�−�����	���	������	��	

��&��	���	��	������	�������������	�����−����	���	����������−�����������&�����������	���&������	����

����δ0

_α � Β������	��� � 	 � &������ � �	 � ��� � ����− � � � �����	��� � Ε � ����	�����−
��������	��	��	−����,������	�&��������	���7����0��������	�1	����−�
� ��
��
 ��&)��
�� 
 �
��%&��� 
��)���)
��� 
��� 
&)
 ���
�&)��
�
����������+ 
 �
)��� 
 ∃���� 
 �� 
)��� 
  �������+ 
  � 
 �
��� � � 
  � 
 &)
 �� ��∋ &� 
 �& 
 � 
 &)�
���
�
&����
�&)
 � �
)�)��
�+
��
��
 �
��

������)
��� &
�
�+
∃���	)��
�+
��

�����
��)�������
��
 �
�
��� � �0�_α#�

/�	�%����	������������	��������	����	�������������	�����������������	�	��	���

�Ο��	��	��	�����−��	&�	�	���������	������	��	�����	�����&�	�	�������&��&������������	����

�����	������	������	=��������������&	��������������−�����������∋��������	�����&	����	��	�

�������������<	�−�&��	������������	�	��������	���������������	�����Λ���
�����−��	&	��	���

����������	����+�������	���&�������&	���=����	������=	��	����+����=��−��	������������������∋�	

����	�����������	�Λ��∋������������	�&	����	��	0

/�������	������	���∋������	������������������	����������������	��������	�,&����∗���

��∋���� � 	 � ��� � �	������ � ����� � &	���=�� � ���+����=��0 � /� � ���� � &���+��� � ?�������	����≅ � 	

�	����+��� � ?&	�∋����≅ � ������ � �� � �������� � �	�Λ���− � ∋�	 � ��� � &��	 � �	� � ���&���0 � ����

�����+���− � �� � �����	���� � &	��	� � ��� � ��&������	 � �	�������� � ?��� � ���	��������	≅−

������������������∋�����	���	������	������	�����������	�
���0
# �����
/−�Φ���	���������Λ���
��������������	����−�&0�∀:0



∀#

��	%	�&�����������	������	������	���∋��������������	−�;	��,���2������� ��	�����

? !!:≅�����	��������	����&�����������	���	��	����−������������������������	��,����−��	����
����−

�������� � 	 � ������ � 	 � � � �	��	���Λ� � Ρ��,���� � 	 � Λ���
����− � ���������� � &	�� � �&������� � �	

&���	���	������Ε��������	���������������	������	����	�	��	������	��0���=/��&	�∋�������	���	

��∋��������������	������������������	�����������	����∗��������	������	��	�	����	��	��+���−

∋�	��&	�∋�����������=���&���������=	�����������	����−�	�∋�����−�������	�&	����	��	−���=��

&	�∋���������=	������&�	��������	�	��	�&�������������������7������Λ������−���������	��������

�&�������− � ��Ε� � �	 � �������=���0 ��� &�	�	������ � ��� � �����	���� � �	 � ��∋���� � Ε � ��� � ����

��&������	��������������<	���	�����
���−��	�	�����������&	�∋�����Λ���
�����	����������������−

�����	��∋�	

_α � � � &���	��� � �	���
��� � �
 � &��	 � �	� � �������������	��	 � ��������� � 	
��	∋�����	��	��������	�������	�&��	���	����	��Π��	��������−�Π���	�����<	�
Ρ+��������−������������	����������	��&���	�����	�	�������7��������������
��������	� � 	� � ���� � ��������������� � �	�	�Λ���	� � Π∋�	�	� � �	 � ∋�	 � �	 � 	��+
��������0Χ

� � Λ���
��� � ������������� � ��� � 	�&�	��� � ������� � &�� � �	�� � �	 � �	�� � �����	����

��∋���,������−�&�����&���	��	�����	��������&	����	��	−�&��	�����&�	�	��������������������

Λ���
����������−���������−�	���.�����	�&��,���������������	����∋�������	�&�	����	��������	�����0

�����������������������<	���������������	��∋�	�����	���������&���	����	�����	�����	�
����	

�� � &�����.��� � �������� � �	���� � ���������	�− � ��Ε� � �	 � ��� � ��	��� � Π� � ��������<	� � 	 � ���

���Λ	���	��������������������&����∋�	����&	������&��������������	������	�����	��������������

���������0�1	��������������	%������������? !∀∆≅−���	%	��,�����������������	����������������

��	������	���=��������=���������	���=��	��+��������	��	��	����������������	���������������

&��������������������������−������������	�Λ����	�����	�����������7��������	����0�/�����&��

������� � ������<	� � &	����	��	�	��	 � ��� � ��������� � �� � ������	� � ���� � ���	����− � �����

���	����	− � �	�Λ��	� � ��������� � ����������� � 	 � ���	�����− � ��Ε� � �	 � ��� � �	 � ���������	� � Π�

�������<	�����6����������	�����������������<	�����&	�����0

�� &����� � �� � ∋�	 � ��� � �&�	�	����� � ��Ε � �∋��− � ��������	 � ��� � ��+���	 � �� ���
�	��� 
  �

 ��&)��
����
��∃����
�
��
�����
��
�����	+
�,�&	�
−.//
��
−−−����	������������	���	�����	

�������− � ������� �������− � ���������� ��	 � ��	������	� �	 � ��������	 � ������ ��	���� ��� �����	��	

	������0�5	��	��������	�����	�&	�∋����−���������	�������∋���,��������&�	�	�����	�	�	������	

��������������������	�	���������������������&	�,�������	����������������������	�����	��	

��&���	�������Λ���������0�/�������Λ��	�������	�����	���Ο���&������	������	�����������−�∋�	��	

Χ �622/∃∃/−���∋������&	����	��	�−�&0�∀∀Α�∀∀Υ0



∀Χ

�	���	�����������������	��Ρ�����������������������	������	�������	���������Ε����������������

�����	������	��	�	�	�	��������,�	����	�	���&Ε���0

6�������������������	����+����������	�����	��&��%�������∋�	��������������	�	�����	−

	��������������������χ����������	�	����	������	δ����������	�	��.�����2∃������ � ��
�����	�����

�
� &������
��	
�
����
�
∆&
&��
�����
�
�� � �
?��������2��	����∃������	≅−������	�&�����

�	��&	����	��	�	��	����∋�������−�	��∋�	���=�����������	���	����χΛ+�����−��Λ	����−�������−

�	����−�&�����	��−�����∋�	��������	�,������−�	��0�5	��	��	�����−��������	�	��+����������	��������

���&��δ�?∃�Β51�16−� !∀9−�&0�9:≅0���������������−�∋�������������	�������	��	�������Ρ	����−

��������	��������������	�����������&�����	���+����Π������−��	�����	�	��+�����	��&��&�������

&�����.������������	−�����������;���
�������&������	−�&������−��������������Ε����	�����������	

∋�	����	���	��	��������0

Φ���	������&�������������	����������−���=�����������	�����������=���	�	���&Ε���=	��

���∋�������� � �� � �	����
���� � ���,�	���− � �	��� � � � Ο����� � ���&� � �	��� � 	%�	������� � &	��

&�&�������	���&Ε���&����	����	�������	���	����0�/�&���	�������&��&������&�����������

�������������� � 	�� ��� ������������ � ������ � 	 � �������� � �� � �Λ	��� � �� ������� � 	 � �	 � ���	���� � ��

����&�	��	�����	���	�������	���−����	��������	��	��������������������������&��−�������������

&������������������������������&�,����������������Ε�����0������������?∃�Β51�16−� !∀9−�&0

9:≅−�

_α���	���������������	�����������������������������	����������	�����	�
&������������	��&�+�����	��	����	����&���	�����	��		��������������ηΛ���
����
������η��	��&	��	���	����������η&��Ρ	�����������η0�ς��������Λ�������������
�	���−�∋�������	����������	����������������Λ���
���������	������������	
����	���− �� ������� ����	����	���− �� ������	 �	��∋�	� �����������− �	������
�	���	������&�����	�−��&�	�	�����������������	��	��������&	��	&�<	������	
�∋�	�	�	�&���0�_α

�����	��	��	�����&��������������	���������������−�Ε����	�	�����	����Λ	�	��������	���

�	 � ���������	 � 	 � ���� � &���,�	�� � �&�����<	�0 �/ � ����	��� � 	� � ∋�	���� � �&�	�	��� � ���	�	��	�

�	������−�������&�	�	���������������Χ����� � ��−������������&���1��������������	�Ν�������

�0�5	���0�ϑ���&���	��	��	���	�������Ε��	�	���������&���Ν��������5	���−�	�������������������

�����−������������2
&����� � �
��)�
 ����
 �
&�����−�	��∋�	�Λ+������&��%�������	���	���

	�����������	����������	�	����������0�������	���	�	�5	����? !∀ −�&0�9Α≅∗�χ��������������������

������������	����∋���������������	����������	δ0

�������������− �&����Ν������� �5	����? !∀ − �&0 �9#≅− �χ��&��� ����	�	��	� �	%&	��7�����

������������	�����	��������	���������	�	%&	��7�����	�������−��������������	�����,���δ−



 !

��������� � ∋�	 � � � 	%&	��7���� � ��� � �����,���� � Ε � 	����	�	���� � &�� � �	������ � ∋�	 � �&�		��	�

������������	���������������	��	−�����������������������	������	�−�	�����	������������	

�	������ ���� �	%&	��7����� � �,����� � 	 ����	����� ��� ������− � ���������� �� � ������ �	�&	�,�����

?�	�&��������	�≅0

6�������&	�,���−�	%���	������	&�	�	��������	�&�+���������	����	�− �������	���������

&	����7��������������������������������&��Ρ	�����	����������	��&�������−��	∋�	�	�����

��	������������	 ����� �&��������� ����	�����	��	− ��� �������<	� �	�&������ �&��� �� �������	���

�	��	����������������������&�	�	��	�	�������&�	��������	�&�������������	��	������������&��

�	�������	�&�����������������	�����,����	�	%���7����0

_α�����������	��	�&��������	������∋�������������	�����	��������������
�������������������	��<	���	�������������<	�∗��������	��������Ε�	�	��&��
��������<	� � �������− � �	�&����� � 	 � 	�&������ � &�������0 �ϑ��&������ � ������
��������������	������∋�	����	������������0∀!

���	�
��� � ���&�	�	��� � � � 	%&	��7���� � ����� � � � ���� � �������	− � 	�����	�	��� � 	��	

&�	�	��	 � ��� � 	%&	��7����� � Ρ+ � ��∋������� � �� � ���	��������	 � Π� � &	��	&�<	�0 �5	��	 � ����	%��−

������	���� � � � �����	 � ���� � 	�������� � 	�&�����	�&���� � �� � 	%&	��7���� � Λ�����− � ��

	����	��	��� � �	 � �����	���� � 	 � ���� � 	� � ������7����� � 	 � 	� � �������7����� � &������� � �	

	��������������������	������	���	���������	��?�����	���	��	�
����&��Ρ	���������������&������

���&�	�	��	�	����	���������������&�	�	��	�	���	���≅0�����	��<	���	����	�	���������������&��	�

�	�����	�����������∋���������	������	������	%�����	��	���������	������	���.����−�&��Ε�−�&��

����������−�	����&��	���	��&����������	����	���	��	−�����	������	���	��������,����	������

������− �������������������	������	��	 �����&���	������	��������������� ��������������	0 ��

Λ����	�	����������������∋�	�	������������	�������������	��������	�������������������������

��������������������	�����������	������	����	��+���������,������������������	�����+�	��

�	 � 	�������	��� � ������0 � ς����� � ����� � �� � �	���������	� � 	���.�����− � ���� � ������	� � 	

�������	���	�����������	�	��������������∀∀0

/�������+���	�����	�������	�����	���������	���������	�	��	���	�����<	��	��	�������&��	

�	� � ����� � 	� ������ � Φ���Ε− � �� � ����� �2
 ��� � � 
 �� &3� �� ? !!Υ≅− � ���	 � ������� � ����Ε�

�	�	������� � 	 � 	�	���� � �	 � &��	� � �� �/���	��	− � ������&������	 � Π� � 	�����Ε���� � �	 � �	�����−

�	����������	������
���� ��	������	 ���������� �&	������������	����������	���0 �/�����	�	��	�
∀! �
ϑΒ��Κ�56∃∃/−�ϑ��������	�−�&0�Α!0
∀∀ ���	�� ��� �Φ���	��� ��	�	��� � ������� �� � �������� � �������� � �� �&�&������ �������	��� � � � &����� � �� � ������� � �	

��������<	�����	�+�����������	����Ε�����[Β[��������� �2
��∋
���
%&�
∃�3
���
∀���∗������������<	�����	�+�������
/����	����−��	���������	�&�����&���	��	������,��������	�+�������&	�,���−��	�����χ��������&���Τ�����&������
�����Λ���∋�	��������	�����	���	�����	�&	��	������������������������������&����	����	��	�������������	
&	�������������Λ������������δ�?�6�6Β��−�����������∋�	��	����Λ���
���−�&0�Χ≅0



 ∀

��������������	���������������������������	������������	������	���<	���	�&��	�−����	�����

�� � ���	� � �	���	���.���� � 	 � ��� � �	���	� � &��,����� � > � � � ���,��� � �������� � &��	 � �	� � �����

������	��	����������������Τ������������������������	����−����&������	�������������
����0

/�����������������������	����������������	���	���������	�����&�+�����&���	�����	�

����� � �	 � ��� � ������	 � �	 � ��	�7����0 ��� &������ � ������� � �	� � �	����� � ��� � �� � &�+����� � �	

����������� � ����
����− � �	 � &������� � ������ � �	 � �	����� � 	 � �	 � �	��������	��� � ��� � � � �	��−

���	&	��	��	 � �� � �������� � �����&��
����− � �	�	�������� � � � ∋�	 � &��	 � �	� � ������	���� � ����

���������	���������−���������	��	��	− ����������������,�	���	�������&����<	�����������
����

�	���� � 	 � ���� � �� � ���&� � �	������� � &	�� � 	�������� � > � ���&� � 	��	 � �	������� � &�� � ����

�������
������	�����	���	�����
������	�	�������0

������Φ���Ε��&�	�	�����������������	��	�������∋�	����������	������������Λ��������	

����Ε�����−������������&�����&���������	��∋�	�����������������0��&
��������������−��������

	��	�	����������������	��������������	�������	��	��	��	��	������	���&	�����>�����������	������

������ � Π � ����������� � �	 � ���&�� � ��&	����	�− � �	����	������ � � � ��	�� � �	 � ���������	−

	����	�	�	��� � &���<	� � 	�	����� � �	 � 	%&	��7���� � ������������� � �	 � �������� � Λ�����0 �6���

���	�	���������	�	%&	��7������	���	����	�	��	�����&�������Ε��Ε����������&�����	��	�������	�−

&	�� � ��Ε� � �� � 	�������0 ��� ������� � �&��	�	��� � ���� � ���� � �&�	����� � &	��� � �����,���� � ��

����	��	�������������	���	�����	����	���������	��	�	�������	�����	����+���−����	�	����������

�	��	�Ο����������	��	�	���,�	����������0

/ � �	��� � ������� � �	 � �Ρ���� ��	�Λ�� � �� � ��Ρ	�� � �	 � ���Λ	���	��� � �����&��
���� � &��

��	�����������������������	������	�����&���−��	����	�	��������������
�����	��	���������������0

5	��	��	���−�������Ε����������������������	��������������������	%��������������������&��
�����

	������������ � &�� � �&�	�	���� � ���	�	��	� � ���	� � �	 � �� ��	��� � &���	��� � �	 � �������������

�	�	���������&	�������������������	����0

/�����	��	�	�������	��������������Π�����������	�Ρ��	���	���%�����������	������������	

�	���������������&�������&�		��	��	��������������������−��	�����	�	��+����χ	����������

��&������	��	 �������,��� �	 � Ρ�����	���− ��	�Λ���� �� ���&������	��	��	%��� �	 ��	�	�����	� ���

���&	�7���������&	����δ�?2Β�ϕ56/−� !!Α−�&0�Υ≅0�/���	����Π����	�	��	��	�&��������������−

������� ���∋����� �	 ��	����� ��	 ������	������ �&�� � 	%	�&��− ���&��������	 ����	����������

	�������	��������−�������������	���	��	�������	�0�1	��������	���−���������7�����Λ���
�������

	�������	������χ��&����,&���_α���	�∋�	���������Λ�����+�����������Λ���
���������	��	���	���

&������−������	�	�����������&������−�&�	�	��	�	�������δ�?�6��Β−� !∀!−�&0� :∀� : ≅−��	������

���������	�,�������	��������������&	����	��������&	�����0



  

_000α�Β�����	�����������&���Τ������	�&	�������&���������&�	�	��	−�	��	��	�������
���	����������������������	������Λ���
���−� ���������&�������∋��������
&�	�	��	0�6��������������−������−��	�&��Ρ	����	��	����&��0�Β��	��	��������	��
������7�����Λ���
������������������	��	��������	������	������	�−�	�	�����������
�	���� � ���	��	 ��	 ����	� ��	 �&������������− ���� � ����Ε���	 �&�	�	��<	�−
��Ρ	������	����Λ��0∀ 

Φ���Ε�	%&<	������	�	���������	�	��������	�������������Ε�����[Β[−��&��%��������	��	

��	��	�������	������	%�� �∗�
��
�����
� &�����0�5���	%����	�Φ���Ε�? !!Υ−�&0� ∀≅−�	�������

����������χ����	����	���������������������	�����	������	�������������δ−�	�∋��������������Ε

χ�� � ��	�� � �	 � �&	��	�����	��� � Λ�����− � �� � �	��� � ���	��� � ∋�	 � � � �����Λ� � &���

	����	�	���	��� � �	 � �	���<	� � ������� � ��������
����δ0 ���	��	 � ������	� � ? !∀ ≅ � �&�����− � ��

��&,�����2
����	�
�������� ����
��
 ����&�	 � ��
∃���
�
8
����	�
�
8
�&	
&��−�∋�	�������	��

	������ � &��	 � �	� � �� � ����� � 	����� � �	 � ����	������ � ������ � &�� � �&��	��	�	��	 � �	������� � ��

�	���������	���������−�����������Λ	���������������	�������	�����������������������������0���

�	���������	������&	��	�������������	���������	������	�−�����&�	�����������=���������=�����Ε

� �	������ ��� �6������Φ�&	����− �∋����� ���=�� � ������=�� ��	 ������	� ����� ������ � �	�������	�

�Λ���	� ��	 � ������− � 	�����&������ � Π� � ������ � �����	� � �������Κ � Ρ+ ��� �6����� �Φ�&	����− � ��

���	�	������������� ��	�����������,�	� ��	�������������	������������	����	� ?�	����− ��Ο����−

&������−����	��−�	��0≅0

�� 	����� � ��������� � �� � �	��������� � 	 � &	�&	������ � ��� � �	���������	� � �� � ����	%��

������	�������&���������	������	��������������	������������	�������Π�&���������������,������

Λ�	���∋����������−��	��������������	�	�������������,�����	�	∋�����	�������0�������	���	�	

������	��? !∀ −�&0�ΥΧ≅∗�χ_000α�����	������Π���	���������	������������������������������	��	

�������	 � ��� � ��	��� � �	����+�����− � 	�	 � ����	�	 � � � �	�Λ�� � Ρ������������ � &��� � 	����

�	���������	�0δ0

/�&�����Ε�������������Ε����	��������������������������	����	�&����&�������Λ����	���&����

��������− � �	�������− � &�� � 	%	�&��− � �� � ���&�����	���� � �����	 � �	��	 � ��&���� � �������� � 	 � ��

������������	������0 �/�7%��� ���� ��������� ����	����� �	��+ ����	���	��	 ��	����������Π�Λ	�����

�������� � �	�	�����������������	� � ?&���− ���
��	=��������� ���������	� � ��������Π�	�����������

��������≅�	�Π��	���7�������������−�������	�������&���������	��? !∀ ≅0��������	��������	�	���

�	� �	���������	 ����������� �&�	����− ��	������� ������− � �	������	��������	����������+�	��

�	���������� � Π � ������� � 	 � Π� � ������	�,������ � �	����+����� � �� � ���&� � ��������− � &��Ε� � 	����
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	�&	�,�����≅− � ����������� �&���	��� ��	 � ���	�&�	��������,����Κ � ? ≅ � �	&�	�	��������	 � ��Ε��� ���

�������	����������������−��	�+������	��	������	��������	�	�Λ���	�Κ�?9≅��	�	�<	���������������
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���	����	���������	��������&����������	���	����&������&�����������	������������&��������
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���	������	�������,������0�6��	�����	%���	����������&�	����	���������,�����−�&�	�	��	�����Ε�

	� ������� � ������ � �	 � &�	����	��� � ?������− � �	�������− � &��,����− � �����	���.����− � �	%���≅0 ��

	����Λ��	�����&�������&������������������−�	���	����	�����	��������	�������,������−��	�������

&�	����	���−���������	�����−�&���	%	�&��−�������,���������	������������	%�&�	���	��	�2���

Β�+����2�������Φ����������&�	��������	��������?2ϑ��;6ΦΒ−� !∀ −�&0�Υ!≅0

_α � 	���� ������� � ���� ����� � ��� � �� � ∋�	 � � � �	��	%� � �����,����� � ��
���+�	��&�����Ε���������������−��	������∋�	���&�	����	����∋�	�����	
	��� � �	 ������	��� � &��	 � �	� � ����� � ���� �� � 	%&�	���� ����� � ����� � ��
�����������&���������,����0�;�Ρ	−����������− �����������Ε���&�������
���� � ����	 � ��������+�	� � &	�� � �
���� � �	���− � &��Ε� � 	�	 � ��������
��&��	�∋�������	�������Ε������_α∀Χ

∀# 2/�6Φ−��	��������	�	�;���
���−�&0�∀Α0
∀Χ 2ϑ��;6ΦΒ−������	�	������������,�����&������	�������������	�����������	���	��,�����−�&0�Υ!0



9∀

1���	 �2���Λ	�� � ? !∀ ≅ � �	������ � � � ��&���Τ���� ��	 �������	∋���� ����&�		���� ����

&���	���� � ��������	� ��� � ���� �&�&���� �������	���− ������� ������� ��	 ��������� ���&�	����	���

�����,�����− � �	����� � 	� � ������	����� � �� � &����� � ��	��
����� � 	 � �	
����� � �� � ��7���� � ��

�������	�0

Φ���	 � ��	������	�− � Φ����� � ;��� � ? !∀∀≅ � �&���� � &��� � � � �&��&������ � �	 � ���	�	��	�

��	������	��&	���������,����−�	�����	�	��	�����	������������−�����������∋�	����������	�

	�������	������	�����������
����−��	������������������	��	������	��������<	�0��������&�������

�	 � ����	��� � �	 � ������������ � 	 � �	 � �	&�	�	������ � �������� � �&�	�	��� � ��� � ��Ρ	���� � ���

χ�����&�������	��	�����	�����	�	���������	��	���	������	��&���,�	��−������������������∋����

&��	�,�����������	���������>�����	�����	�&�������	��	δ0�;�����+�7����	������	������	�����

������	����������−��	������������������&���	����	�������	���0�����	������	��	�����������

	%�	����	��	�&�������������,����&����&�		��Λ	����������������	����−���&�������	��������∋�	

�
��������������	���������&���������Κ����	����&��	��	�����������	�����	������	���������−

��������	��������������������	���������	&�	�	����������������������	�,������&������������

��	������	���������0�

Φ������;����? !∀∀≅��&������������������7������������������������������������	����

��	������	 ����� ����	���− � 	� � ∋�	 � χ� � �����������	 � 	 � � � Λ�����������	 � �� � ��	������	 � ���

∋�	����������&	�����	����	��	�&	������	������	���������������<	�������������������δ0���	����−

� � &���	��� � �	 � ������������ � &������� � �� � �������	��� � �� � ���&� � ��� � ��	������	�− � �

��	����	�����	�������&����<	���	���	������	�	�����&����������&�����������	���	�	���0

������� � �	�	� � ���� � 	������� � ��� � ����	�&���7���� � ���� �	���− � 	���	 � ��
&�
&���� � ���������	� � �������+����− � � � ��	������	� � ���� � �	�	������− � 	�
�	�&���� �Π�	%&	��7���� ��	����������������� �	 ��	�	%������0 �∃����	�����Ε����
�����	�����	��	����������������������������	�����	��_αΚ���������������	
����	� � ������	����� � _αΚ � �� � � � �	����� � �� � ��������������� � ��������− � ��
������%����	��������	�����	&���������&��,�����_α0 !

������	���	�	�Σ��Λ�Ι��Η���Μ���−�	�������������������&���∃�����∃��	�����Φ����

? !∀∀−�&0�99≅−�/ ��
� � �
�
 �∃������∗�χ_α������	������	���������	�����	���������	�−�������

��������	%����������������∋�����	����������������∋��������������	��������
������&����	������

∋������������	����������������&�
&�����&����<	�δ0�����������&�	�	��������	������	��������

�
&�����	��	���	������������<	������	�&��Τ�	��−��������	%��������	��������<	�������������

��	������	������������	�Ε�������	���������������������	������������−���Ε���	�����7����	�Π

 ! ;�22−�����	������	�������������&
�����	������	−�&0�#Υ�#∆0
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���	�	������������	�	�	�����	��������������	������������	�����
�����0

���∋�	��<	���	���������&���;����	�Η���Μ����&��	���	���&��������������+���	������	

�����	������	���������,����	�����&�,��������	������������������− �	�����	�������	�	��	�

������	�,��������������−�	���.�����−��	��������−�&��,�����−��	��7�	��−��	���	�������0�/���	���	�

����	�������������������	������	����������	��	�������������	����−�&�����&���	��	�������	��

&	�,������&	�����	���,��������	&Ο�����−�����	�����	����������	��	�������	��������&���∋�	

���������� �&�&������ �������	��� �	 �� � ������� ��	�	�������� �&�� � ���� ����&�0 ��� ����	�	����

Ε��������	��������������	�����������������������������&�������������	��������������������	��	

��	������	� � ���������− � ����− � &�� � 	%	�&��− � �� � ���������	� � ∋���������� � ?�� � &	�,��� � ��

	���������≅− � +���	�− � ���+�����=�� � 	 � 	���&Ε���=	�� � ?� � &����� � �� � &	�,��� � ���� � ���	��� � �	

������������Ε���������������≅ ∀0

Φ������;�����&�	�	�������	�������	�ΞΙ�������������?∀ΧΧ!��&���;�22−� !∀∀≅�	�

∋�	�	��	�������	���	�	�����	��������	�����	������&����������	�	��������Ε������&����������

	�����
����−��	��������������	�������	������	�	�������������������&�����&�������<	��&�����

��	����	�����	��	��<	�������	%��	���−�����	�����������	�	����������	���	������	��	����

����	%�����������&	�����&��������&
�����	����������0

��� 
������	
�
����	�
� � �
 � �������	 � 
 � �
�
�
�������
�����
��	
��	��������	�

/�	����������	�+��������;���
������%���������&�����������	��	���	������������	������	

�������&����	�������&��&�����������&�	������	��&	���=���������=��0���	������Ε���������	���

�	����	��������	�&����−�Ρ������������	������������	���������−�&�������	�	�������	�����	����

������7���� � Λ���
���� � 	 � �&��&������ � ����
���� � �� � �	�� � � � &����� � ��� � �	����	���� � �	

&	��	����	���0����&�	�	���������	����������	�+����−��������&�����&�����������	�	�����Ε����

�	 � 	������� � 	�����	��� � 	%&	��7����� � ��� � ������������− � ���� � ���� � ������	����� � &��� � �

�	�	�������	��� � �� � &	����	��� � Λ���
���� � ���=�� � ������=��0 �6��	 � ∋����� � �	�	�Λ��� � &��

;	�	����������	�������&<	����∋�	���	��	�������	�������������	���	�����������	�&����∋�	

�������������	���������	���������0����������	�������	%&	��7���������=���������=������	�������

�Λ	��;���
���−�&���	%	�&��−������&�		���������	�������	��	��������	��∋�	����	���	�+�������	

�	�Λ����&���	������&��������=�����=���	���������=������	��������	��������	��	�	������0

�� �	����� � ������ � ���������� � � � ;������������� � 	− � ����	∋�	��	�	��	− � � � ����	��	

	������−����������������	����&������	%���	��	��	���	�������	����	�������	���	0�������	&���

 ∀ Ν	���	���	�	�∗�;�22− �Φ�����0 �/�������− �� ������ �	 �� ��	���������	����0 � Β�∗ ��� ��	������	��������� ����&
��
���	������	0�∀∀�	�0�∀��	��&0������	����	���∗�1�κ�−� !∀∀0�&0�::�Χ!0
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�	���7�����&��� ��φ����γ�	���	��&��%������� �&�	���&��<	� �∋�	�����	�������&����������

���Λ	���	������	��,���� �&���	��	��	� ���� ����7����� ��	����	�������	������	��	�� ����������

?���/�Κ��6��ΒΚ� !∀∀≅�>����	�	�������	�������������7�����Λ���
��������=���Ρ��	����	�����	

������������	��	�	�������Ε���&������	�&������	��������	�����	�Λ���������	�������	�;���
���0

_α�����������	��	�−��γ�	��&��&<	����	����	�	���	���Λ���
�����������7����
	���	���������Λ���
��� �∋�	������	 ���� ���	���� ���� ������ ��	�����− ���� ����
�����&�������	��,�����∋�	�&����������7�����Λ���
����0�5����	����������	������
	�������������������������Λ	���	����Λ���
����−�������������&�	���&����
���Λ���
����	�∋��������7�����∋�	����&�		��	�����	���������	������������
&�+����0  

/�	�������	�;���
���−�&�����γ�	�−�	�����	���&���������∗���	��������������������&�	�	��	

��� ����������� � 	 � &��&����� � � � �	�	�������	��� ��� � ���&	�7���� � ��������� ����=�� � ������=��−

	�������������������������	���������������Λ	���	����Λ���
�����	���������	�������	��,����0

1	�������������γ�	��? !!:−�&0�9!≅−�χ�����	��Λ���
�����&��	������������&��������������������

	��������&�		������������������	�����Ρ��	����������������	�&���	������&�
&����������δ−

�	&	��	�������&��	���������������	��∋�	������	��Λ���
�����Ε����	�����	��������	�����0

�γ�	����������������	���������Λ���
����������������7�����Λ���
���−�������&	��&	�����

�	�&	��	&����	��������(�	��	−�	��∋�	���=���Λ������������=	��	�&���	������=	����	������	��

������7���� � Λ���
���� � ���=�� � ������=��− � ��	∋����� � �� � ����� � �	 � �	����� � �	 � �	����� � Π�

���	�	�����&�	�	��	���������&�������	��	��	��Π�����Ρ��������������	���	�������	�&��?�6��Β−

 !∀!≅0 ���Ε� � �����− � ������	�� � � � ���&	�7���� � ��������� � ���� � 	�&	�,���� � 	 � 	��	����� � ��

������7�����Λ���
����−�&���&��	���	������������	��������	�&����−�����	��������Λ���������	��	���

���	��<	������	�&�−����������	����	%&	��7����0

����������Λ���
����−�&�����φ����γ�	�−�Ε��	������������χ�����&��	��∋�	����&��	������

�	�������������	����&	����	����Λ���
�������������������&�+����δ−��	�%�����������∋�	���&���	

Λ���
���� � �	����� ����� �&�
&��� �	 � ������	�,����� ��� �∋����� ��������� ��� ����	������ ��� �����

Λ������&�+����0���Λ�������������−��	��	�����	%��−�Ε�����������	�	��+�������&���	����Λ���
����

�	����Λ	���	���−�	�����	���������	��	��Ε������	��	�
������∋�	�Λ��������������	���������

��������� � ��������� � ?�λΦ65− �  !!:≅0 � �+ � &��� � �	�	�� �
����Ρ�− � ������� � Λ���
���� �	�����	

χ�	������	�	�����	���	�����∋�	�������&������Ε�������	��&������δ−��������Ε�����������	����

Λ�������������− � 	�����	��� � ����� � χ�� ��Ο���&��� � ��	��	� � 	��������� � ��� � ��� � 	���������δ

?
/5∃Β�/−� !∀Α−�&0�ΑΥ≅�>����������−�����������&��%����	��	�����	���������������	������	

������7�����Λ���
�����	���������Λ���
����−��	�	����������&����φ����γ�	�0�/�����	���	�������Ε

  ���/�Κ��6��Β−�/�	���������;���
������&����������	������	��φ����γ�	�−�&0�90
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�&�	�	������&����	�	���
����Ρ���������&�����&�������	��	�������������������	�&�	���<	��	

������	� � ��=� � ������	���=� � &	����	 � Π � Λ���
��� � 	� � �	���− � ���	����� � &	�� � ������ � � � &����� � �	

	���	��������	��������������������������	��	�Φ��������−��	���������������+��������������	��	��

	�	�	����0�ϑ���
&�����&�	��	�����������������	�
����Ρ��Ε���&�	�	�����	��	������������	�����

����������+�����−����	��	������������&�		���������&���	�����Λ���
�����−����Λ�����������	����

�	�.�	����	�������������������,��	�	����+�����	����������������	��	������0

����6�����	�	 ����	��� ��	 �(����� � ? !∀!≅��	����	�� �	��6��� �(���	� �&��� �����	�����

��������Λ���
����−�∋�	�χ�	�	��	��&	������&������Ε��������&�����Λ��������������	�����Τ���	

Λ���������+����δ− � �	������ � ����������<	� � �	 � ������ � ���	������ � &������������− � �������

&��&���������χ����������	��&��&��������	����	�	��Λ���
������	��	����χ&	�����Λ���
����δ0��(�����

? !∀!≅ � ����	���� � ������� � 	������ � 	� � �	� � ������ � ���� � ������ � 	 � &�+����� � �	��������� � �	

���Λ	���	���−������	��	����Λ	���	�����Λ���������	��	��������,��������	������0

_α ��	� � � � ������� � 	������ � ���� � ��Ρ	�� � Λ���
���� � ��&���� � �������� � �
��������������&���������&���	������	��������������	����	�	��	�η����������η
�	������	���	������	��	�	�&���0������−�	�����������������	�������Ε�	���������
&���	�����	�&������������&�+������	������	�−������Ε−�&�+������∋�	�&	����	���
�����������=�&���������	����Λ	���	�����	�����&��������	���������0 9

�	�∋����� �����7����� �����	 �	������	 ��&�	������	���	�;���
��� �χ���� ������	�����

&�������	�	�������	��������&�+������	��Ε�����������	����������������	�����δ�?Φ�;�Β1∃−

 !!∆���ϑ1�26�2−� !∀ −�&0�#≅−�&	���������	��	��	�������Ε����∋�	�	��������������	���<	�

���=���������=���������&�������	������&����	�&�������∋�	�	���=	���7����	���0���&	�∋���������	

	�������	�;���
����Ε�������	�����&�����������������	����	�(	��������	����? !∀∀≅��������

����� � �	 � �����	���− � 	�����	��� � &	��&	������ � ���������	� � 	 � ���������� � �� � ;���
��� � 	 � ��

6��������&��������+���	�����&���	�����	����������>����������	������	����Ε�������	�������&��

����	����	��	�����������������������������������	������	
��������6��������	����;���
���

?��+���	�����	������	���	���������+�	����������≅0����	������	���	����	��	�−�����	��	��	����	�	�

�	&	��	 � �� � 	%&	��7���� � �	 � ���� � &	����� � ��� � ���� � ���&��− � �� � ���� � &����������� � ���=��

&���	������=	��	����	%&	��7������	���������−�������������χ���	�	��	�����	�	��>���������	���

��∋�	�	���������>�&������������ �	����������� �&������������������	��	������ �����&���	�����	

�	�.�	����	��	�����δ�?�/5∃6Β�/Κ��655�−� !∀∀−�&0� !∆≅0

��	��������	�����7�����Λ���
������	�	��������	�	�����������	����������−�&	�∋������	

	�������&�����	���	�	�������	���−��	������	��������	���������	�&	���������	���	������+�	�−

�&���������������Ε���������	�	��������&����	��	��&	��	�����	���0 ���+�	���	�&	�∋�����	�

 9 (��Β�Φ−���������Λ���
����−�	�������	�Λ���
����	��Ο���&�������	�	�−�&0�∀:!0
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6������� �;���
���� � 	�����	 � �+���� � ���	�	�− � ���� � ?�����− �  !∀ − � &0 � 9Χ≅∗ � ∀0 � �����,&���

	������������������	������������	�������������	∋������������������&�������������	�Λ�Ρ	−

��� � �����7���� � �� � �������������� � �� � �	��	��	 � �� � �&�	������	� � �������Κ �  0 � �	��	%��

	&���	���
��������������������	�����	�����	��	�����������������	������&������������������	

�� � ���Λ	���	��� � Λ���
���� � �	��,��Κ � 90 � ���Λ	���	��� � Λ���
���� � ����	%���������−

&����	���������	���	�������Ο���&����&	��&	������Κ�Α0��	������������	���+���	��	��������	

�����	���∋����������−����	������	���������0

µµµµµ

/�&�	�	��	 � ��&,���� � 	%&.� � � � ����	��� ��	 ������	��� ��	 � ��∋����− � ���	������	 � 	�

������ � �����	� � ��&������	� � �� � +�	�− � ����− �&�� � 	%	�&��− ���� ������ �������� � 	 �2������

1������0�6���	�����−��	�	�����	�������	������	���	��������−��	�
����	���	������	���������	

��������−�������7����	�Π���&���Τ��������	%&	��7�������������,����	��������&���	������	���	−

�&��������&��� ��� ����	�	���� ��	 �&	��	&�<	�0 � Β��� �&��	� � �	� � �	������������ ������ ��	 �����−

	�������������������7�����Λ���
�����	�����,��������=���������=��0

/�&�
%������&,���� ��&�	�	��� � ��������	��	 ����	%��	 ��	 ������	���� ��������� ���

�6���	�	�	��	�Π��	�����	����������6���������+�����������	���−�&�����&���	��	���&���	���	���

���	��������������&�����;���
����	������������������	������������	���0
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) �� �����∗�����#����%#������������������∋���(��#

5��&�	�	��	���&,����−�����	���	���������<	���������������Ε���	������	����������������

������Ε��� ����6��������?�6�≅�	� �	�������������	 �� � �	�����	��� ����6���������+���� ���

������−���	�������	�����	���	����	�	��	��
������&Ο��������	�	����0���Ε�������−��	�	���������

�
&��������������	���<	��	�&	�,����������	���	�������	�;���
�������6���������+����−��	�����

	��������	����������Ε����������	���������������∋����������0

��2	���	�1��	����	��	����	�����6��������5��������?21�≅�>�2	���ε�Χ09ΧΑ−��	� !��	

�	�	������	�∀ΧΧ∆�>�	����	�	�	����������������������	����������&�����	�	�����−��	�	�����	�

������������	���	���	��	�������������������ϑ�����	����	������−�&��Ε�−�&����∋�	�Λ���	��	

�����&���������	���	������	��������������	���	������������	�&���	��	−���������,&�����	�	����

�	�	�����	� � �	����� � �	���������� � ���	���� � ��� � �	�� � ���Τ����� � 	 � �	�� � ������&���

���&�	�	����	��	�&	�,�����0 �6�����	���������������&��������	���	�	�������	������	��	�����

��������������&Ο�����−��	�	������������,&�����	�	���	�&���+�	���&	���6��������Β��������	

6������(�����	����−����	������−��	�&���+�	���&	���6�������Ε����	���ϑ����−��	�&���+�	��&��

	����	�	�	� � ���&	�7����� � 	 � ���	����	� � &��� � ���� � �	��	���− � 	�����Ρ���� � ���������,&���−

1��������(	�	����	�	������−�������Ρ	������	����	������������������+����������0�/�1�������

(	�	��� ���	��	���� ����� � �	��	���� ��� �6���������+���� � ?6������ �(�����	���� �	 ��Ε���≅−

�	�����Π��������	�,�������	�&	�,�������	����	���0

����� � ����	 � �� � &��������	� � �	 � ���� � 	��	��− � � � &��	�	� � �� �����	�Λ� �5������� � �	

6��������?�56≅�	�����Τ������	�6���������+�����?�6�≅��ε�:= !∀!�������������Ε��∋�	��

������������	�1��	����	������������	��5���������Ε�����������������	�	���−�	%	������&	����56−

�	��������������21��	���2	���ε�Χ0∀9∀=ΧΥ−�	����Ο���������	���������&������������2	���ε�Α0! Α−

�	� !��	��	�	������	�∀Χ∆∀−�	��+��������&�����7����� Α0�∃��������������Ε��	�	���������&	��

	�	��7������������������������&��,������	�����������−����������������	�����������������	������

&�&������ � Π� � ������<	� � Λ�����− � ������ � 	 � &����������� � �����Ε� � �� � ����	��������� � ���

&����,&����	����	����	���	��������6���������+����−����	��,�����Π��	��	%�����,�����	�&��&�������

	�������	�������������������	������������������	�������������	�&����������������6�������

�+����0

�����&���������������,����������6�������(�����	�����	��Ε����	�����&�	�	��	����

21�−��	�����	��	�&�����������	�����Τ������	�6���������+������������	�Λ��5���������	

6���������	���	��������	����	����	������������	��&�����������	���������������−�∋�	��	�	���

 Α 1��&��,�	��	�∗�νΛ��&∗==ΜΜΜ0&�������0���0��=������8!9=�	��=2Χ∀9∀0Λ��� �ο0���2	���ε�Α0! Α−��	� !��	��	�	����
�	 � ∀Χ∆∀− � ��%� � �� � 1��	����	� � 	 � ���	� � �� � 6������� � 5�������0 � 1��&��,�	� � 	�∗
νΛ��&∗==ΜΜΜ0&�������0���0��=������8!9=�	��=2Α! Α0Λ��ο0

http://www.planalto.gov.br/ccivil_03/leis/L4024.htm
http://www.planalto.gov.br/ccivil_03/leis/L9131.htm
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�	� � ���&�	�	����� �������� �&���	 ����	���������− �������� ���	��	� � Π� � ������<	� ����������−

��������	�	���.�������	������	����	������0���Ε���	����&���	����	���������−��	�	�����	�������	�

������	������������	�	��	�������−����	�����	��	�	�	�����=����������=���−�	�����	�����	�&	������

�	��������	�Π����	���	����+����−������������	������������	���	�?�����	���Ε����=������−

������	����������������	�������	�− �&�	&�������&������������Λ�− �������������	���Ε��������

�	���<	��Λ������≅0

��&�������	��������	%��������������21�−����	���������&���	�������������	��	���	������

�������	���	���������Ρ	������	��	�Λ�������	��������&��������&���	������	��������	��������

��������������	�	��������������&�����;���
���− �	������������	�	��	�����<	���	������0 �/�

���Τ�	���������������	��������������	��������&	���21����������&	��������	����������	���∋�	

�	�	�������	�����������&���	�����	�	������	��&�	������	������	������−��	��������	��������

&�����&������������	��+�	����	����Λ	���	����	��	����������	������	����	�	�	������������	

���Ρ������	�������������	��������Λ����������,�	���	��������	�����������0�/�����������	�,������Ε

������������	%&�,�������������	��������������&����	�	�	�������	��������	��−��	�������

����&�����&��������	��&����������������	�������������0

�� �	�+���� ��	 �)����� �����	− �&	�� �&���	��� ��	�− �∋�������� �∋�	���� ���� �����	�� ���

Λ��������	�	�����&���	��������������<	��Λ������−��������������	%������−�&��Ε������Λ+����

	����Λ� �	�&	�,���� ��	 ������������ ��������� ��	������	 �	�	�	���� �����	������ �∋�	 ��	�	����

������������������	������������0�5���	��	�������������6������(�����	�����?Υπ�	�∆π��Ε��	��>

��� � �	���� � ������− � ∆ε � 	 � :ε � ����≅− � �� � ��5η� � ���	� ���� �	����	 � �	�&����− � �&�	�	������ ��

&���	�����	�6%&���������,�����6���&Ε��������Ε������[Ν�	�[ΝΒ−����	��������)�������������

�	����	����+���0 �/ � ����� ��� �	�%� � �	�+���� ��� ������	��� ������� ������ � �	����	 � �	�+����−

���	����������������	�����������������&�����&	��	&�������,������	����Λ���
������������0�5�

∋������������?:π�	�#π��Ε��	�=#ε�	�Χε�����≅−���;���
�������������Ε�	%&�	�����������	���χ5��<	�−

&����− � �����− � ��	���� � 	 � �	�����<	�δ− � ���	���� � �� � 	�%� � �	�+���� � ���������� � χ;���
��� � ���

�	&�	�	����<	��	������	���<	���	�&��	�δ0��∋��−�����Ε��Λ+�	�∋�	���	���������	����������	�

���;���
�������)�����0

�����/����−�Λ+����������<	���������������	�������5∗�	���	�����−�&���	%	�&��−�Π

�	����− � � � �����	��� � �	�	��	 � ��� � �������	�� �	�+���� � �	� �&�	�	�7�����− � &��Ε��Λ+ � ���

����	�������������	�����	�	�	��	�����	���������;���
�������������−����6���&��	������Ε����−

�	�%���� � )����� � 	 � /��	��	 � 	� � �	����� � &����0 � /���� � 	%	�&�� � �	�	�	��	 � �� � 	����� � ���

	%&	��7����� �Λ���
����� ���� ����Ρ����� ����������
����∗ �� �)����� �Ε ��&�	�	����� ��������������

��������������	��	���&����−�	�∋�������������&�����	�����������������	���	����	���	�+������

������
������?Β�&Ε�����	���−�Β�&Ε�������	�.���−�Β�&Ε����������−������	��	��������	���−
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�	&Ο������������−��	���	�������≅−���������������Λ���	����7�����������	���;���
���0

/�����Τ�	���������������	��5�������������	%��	�����������	��	���	���������;���
���

���������− � �	������ � �� � &�
&��� � ���Ρ	�
��� � ��� � ����	���	� � �� � ������	��	 � ��������Κ � 	�	�

�&�	�	��������&�����������	���	����	��	�7��������;���
�������)������������������0�/��	%������

��5η������������������������2	���ε�∀!0∆9Χ= !!9�	�������&��	�	���������	�Λ��5���������	

6��������?�56≅�?�56=���!9� !!Α≅0�/�������Ο������������	����������	�������	��χ�	����

�Ε��	��	���∋��	���<	��	���<	����������������������	������	����������������−��������	�	��	��	

�&�����	���� � �	 � &	�∋�������	� � 	 � ���	�	������− � �� � ��+���	 � �	 � �Ε������ � 	�� 	������� � 	 � ��

���&���	���	�����	��������&�����	����	�δ�?/2ΒΝ�−� !!Χ−�&0�∀ΥΑ≅−�&��Ε������	����������

&��&������	��	�����������;���
�����	�����������������������	���−�	���	����	�������)�����0

��&��������������2	���ε�∀!0∆9Χ=!9��	�&���	���������	��������������	�����	���

����������������−��	���Λ	�	������&������&��������=������������=���	�����=�	����	��	��	��	�

���� � ��Ρ	���� � �� �;���
��� � �� �������− � ������� � �	 � �����	� � 	 � ���	�	� � ������	����� � &��� � �

������������������������	���0�6��	�����	%�������Ε���	��&�����Π�;���
����	���������Β��,�	��−

&�	�	��	�����	�����	��������0�/��	�������	��������&<	��	�Π�������	����7�������	�����������

	���������Ε������	�����	�����&����������0�5����	�������������	��	�	���������−���������%	

���������������	�+�	������������	��������&������	�����	����,�	���−��&�	�	���������Ε�	����

�����&������	������������	������&	���&�&�������	���&Ε��− �	��&���	����������������&	��

�����−�Ρ��������������	%&���������	������	�����−����	���,����	����&��&��������	��	����
�����	

���Ε�����&�����0

6��� � (���	� � ? !!∆�≅ � �������� � �� � ��������<	� � &�	�	��	� � �� � �	��������− � 	� � ∋�	 � �

����	Ο���&������+������	�;���
����	��������������������	����	�����	���	���������;���
������

)������	����=������������=��−�����������=����	����=������������−������������	����������	����	��

&������&�������=���	���=��������������������	����	���������− �&�����&���	��	�����+�	����	
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∋�������	Κ�[�>����������������	%&	��7�����	%���	������Κ �[Β�>������������	���	���	�������

	������−���������Λ��	����&�+�������������0�

��	����������������������,����−�������	����������&��	�	��:= !∀!−�������	������	�	����

&������&�����������− ���	��	�	 �������	��	��	��	�� ����	���� �	 ��	�	�	�������− ��������− �&��,�����−

	���.������	�Ε�����0����������−�Ε���&������	�∋�	���&���	����	���������	�������������&������

��� � ���	��<	� � ������������� � �� � ������Λ� � &	���
����− � ���� � ��Ε� � �	 � ��� � ������������	

	�����Ε�����&���	���	���� � &��� � ��������� � ��� � 	������� � ���	���� � > � �	�	��	 � �	��� � 	�

������	���������	�������	�&��&�������	������	�����&������	����	�������−����������������	

��	��	��������	���	�	����������	��������������0

/�Φ���	���5���������	�6��������	�������	����	��&������6���������+���������∋�	��<	�

��	∋�	��	�	��	��	���������������������Ρ	����������−����������������	�������	�	��������	��

����������	�	��������	���	���	��	������������0�/��6�������������	�����	���1��������(	�	���

�	��������	�,�������&�
&������	�����	���	����������−��	�	�����	������������������	���	���

&���	�

&������������������6���������+�����	��������Ρ��������Τ����−��	∋�	�����−
����������− � ����� � ���� � &���	Ρ��� � ����	�����	��	− � ∋�	 � �	�&���� � Π�



Α9

	%��7����� � ��� � 	�������	�− � �	 � ���� � �&�	������	�� � ��� � ���	���� � ���	� � ��
�	�	�������	�����,����−����	�	�����−�	���������	�������0 #

/�������	�����&��	�	��:= !∀!�?���ΦΒ2−� !∀!−�&0�∀Υ≅��	���	�	������∋�������	�������

�� � 	������� � ������	��� � ���� � χ��� � ���∋����� � � � �	� � �������,�� ��	 � ����� ��	�������− � &���

���������������∋�	��	������	�������&���������∋�������	�����	������	���	������������Ρ	�����∋�	

�	������������	���	������	���	��	δ−����������������	���������&����,&�������21��?�������Β[

����������9ε≅0����&���������	��	���	����Π�	�������−�������	��	−�	���������������∋��������	��	

������=���	��������	�����−������������&�	����∀!!θ��	����������	�����	��	��	��������������=��

?����	����������������	����Π�	�������≅−�&��Ε���������	����������∋�������	−���������������

� � &	����7���� � ���=�� � ������=�� � ��� � 	����	�	���	���� � 	������	� � 	 � � � ��� � ���������� � ��

���Λ	���	�����	��	������	��	�0

���������&��	�	� �:= !∀!− ��&������	 �� ��	�	������	��� ����	��� ��� � Ρ������ �	������

���=���	�������	��?��������−�����	��	��	��	� Ρ��	��≅−�&�����&���	��	���������=����	����,����

������Λ������− �	��χ	�&����Ο���� ��� �	����� ��� ����	�	��	� �	�&���� �	���������− ���� �∋���� ��

&	����7���� � �� � 	�������	 � �	 � ���� � ����� � Π � ∋��������	 � 	 � ∋�������	 � �� � �	�&� � ��+��� � �	

	������������−�∋������Π����	������	��	���������	���	��&�	������	��δ�?���ΦΒ2−� !∀!−�&0� ∀≅−

������	����&�+������	������������������	������������0�ϑ��	%	�&����	�&�+�����	�������������

�����������������������&,������	�����������−�����	 �����������	��	�	���������&	���&���	�����

Ν��	����
������	�−����6������������&�����,����Φ&,�����∃	�%	����?�������������������������	

/���−�	��1�∋�	��	���%���=��≅−��	�������&	���Ρ������6%���0

/����	�����	�	�������&�����������&��������	�������	������,&����&����&���	������=	��	

�	�	�	 ����	���� � ���+���� � �	�	�	��	� � Π � �	�+���� � Ε������������ � �����Ε� � �� � ����� � �	 ���<	�

������������?���≅−�∋�	�����	��������<	��&�����	�Λ�������∋�������	����6���������+��������

	��	� � ∋�	 � &������&�� � �� � ����� � �	 � 1	�	�������	��� � �� � 6������� � ?�16≅0 � / � ��������

5�����������2�����1��+�����?�521≅−����(�����5���������	�1	�	�������	�������6�������

?(516≅−������������������������������&������Π��	�������&Ο��������	����������������Ε��	�=����0

/����������	�;���
�������	�������	������������������ ε��������6������(�����	����−��	�������

����∋���������&��,�	��������	����������Ε�������6������� Χ0

 # ���ΦΒ2−����	�	���56=�6���0ε�∀ =∀ΧΧ:−�&0�∀Α0
 Χ 1��&��,�	��	�∗�νΛ��&∗==ΜΜΜ0���	0���0��=&��������=��������������=����������������&�	�	������=��	�=ΑΥ!Χ�

�������&�������	��	��	ο0�

http://www.fnde.gov.br/programas/livro-didatico/livro-didatico-apresentacao/item/4509-livros-por-ano-e-serie
http://www.fnde.gov.br/programas/livro-didatico/livro-didatico-apresentacao/item/4509-livros-por-ano-e-serie
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�������������������	��	������������,����−�Ε���&������	−�&���&���	����������������	������−

���	��� � �� � �������	�� � �����&�����− � &���������&�����− � ���	������&����� � 	 � ����������&�����− � ∋�	

���	������ � �� � &�+����� � &	���
����� � ���=�� � 	���������=	� � 	 � ����������� � � � ������Λ� � ��=�

	�������	−����	������	�	������	����	��	����Λ	���	���0�Φ���	�����+���	��	������&���������	−

&���������&���������	−����	������&������	�����������&�����−�&��	�����	��	�������	�/���������−

�	�	������������	�������������	������	−�����&��	�+��	���&�����	������	��	�	������0�

/����������&�	�	��	���������−�	���	%��������������/�
�� �����	����� � �
�
��
�������

 �� 
 �������− � ��7� ����	���� � ��������� � ����	 � � � �	�� � �� � �,����∗ � ��������	��	− � �&���� � ���

&��&���� � �	 � 	������������ � �� � &������ � ���	������&���������	Κ � 	� � �	�����− � ����� � ����	 � �

��&���Τ���� ��	 ������	���������� � ���	��� �	���	 ����	�	��	� � ���	�	� � ��	��	 �� �������������	

	�&	��������������=�����	�������Κ�	−�&���Ο�����−��&�	�	�������������	�����������	�����	���7����

	 � � � ������������� � �� � ϑ���	������	 � ���� � ����	∋�7����� � �� � ���	������&���������	 � ����

�����	��������	�������������������	&���	���
�����	���	�	�������	���0�������	�	�����	�

�	� � &���	��� � ���	���− � ����� � �&�	�	��� � �� � �	���	 � 	� � ����� � ��� � &�������

���	������&���������	− � ����������&���������	− � &���������&���������	 � 	 � ����������&���������	−

����� � ������ � &�� � &	�∋���������=	� � ���� � ���.�����− � &��Ε� � �	� � �����	���� � ������	��	

�	���������0�∃�����	�����&��������	�������������Π������&�����−���������Ρ���+�����?�����	�������

	 �&���������&���������	≅− ��������+���� � ?�����	�� ���	������&���������	≅ ���������� �� ���Ε�����

�����	� ��	 �������� �	 � 	����� ��� ������&���� � ?�����	�� ����������&���������	≅− � 	�����	�	��	�

�,�	�� �	=�� ������0 ��	�∋����� �	�����	����∋���∋�	� �����	��	� � �	���� � �	���− �&��� �� � ������−

	%&����� ��� ����&����	 �	��������� ���7�����− ��������	�����	�����+�	� �	��������������Ε� ��	

Ρ����&������− � &����	�����− � ���	�����− � ��������� � �	 � &	��&	������ � 	 � ���	������ � 	���	 � ��

�����&�����0

Φ���	����	���������	���−�����������	%������������������������7�������&��������

�	��������������,�����	�&�	�����&���
����	��	�1	�����	�−���∋����������������������	��&	∋�	���

&���	��&����������+������	�������������	��������&����������	��&�	�	������∋�������������	���

��7�����	�&	���������0����Ε����	�&	������������������������&�	%����	�Π��&���	��	��������−����

�	����������������∋�������������−��	�	������������������������������������	��&����∋�	��	

�Λ	��	�Π����������	�	�&	����0�����������&����−��	��	�����	%��−���∋�	��������Λ	��,�����−�∋�	��	�

��������&���� � ��&������	 ������Λ�� � ������	���� �&��� ���&���	�����	 ��	�	�������	��� ���

��7����−�����������&����	���������	�&	����������������Λ	���	���0



ΑΥ

/����	���� 	��∋�	�Λ+����	�	������	��	����������	�	��	�������	��&����	����������

���������	�	�&	�����Ε���&������	�&�������&�������&�	�	�����������������	�����������	�����	

��7���� � 	 ��� � ������������� ��� �ϑ���	������	 � ���� �����	∋�7����� ��� � ���	������&���������	

���� � �����	������ � �	 � ��� � ������������� � 	&���	���
���� � 	� � �	�	�������	���0 � 6���

���Ρ������������	�����������������������	���������&����	������&�����−�����−�&���	%	�&��−���

��7�������	������	����−�������	������&������	�������	���7�����−��������−�����	∋�	��	�	��	−������

&����	����	������ �&�+�����0 �/��������	��� ��������	�����	 ���7�������	���������&�		����

�,��������������	�����	���	������7������	����	��	�����������������?&��,����−�	�������−����	−�����

�������������	��Λ������−��	���	�������≅−����������χ���&Ο������������	����������������−

��&����	��	����	�	����−��	��	���∋��	���−��	��	����	%����−���������−�&���	����−��	������δ�?�/��/−

 !!Υ−�&0�∀ ≅�>�������������	����&Ο��������������	�	������	������������	���������������	��	

	������−�����	�������	�∋�������	−�&���	������=	���	��&�	&������=���	��	���	�����=��−�	�&���

�,���� � �	� � 	����������− � ���	���� � ���+���� � 	 � &������+���� � �	 � ∋�������	− � ��	��� � Π� � �����

�	���������−��	���	�������������	��∋�	�	������	����=���������=�����&	����	���	���������,�����	

������	�����Λ	���	����������=���&����������������	��������	������������	0

��	������Ε�������	���������������	�&�������	������	�����,���−����	������	��������−

����Λ��	��� � 	 � �����Λ	�� � 	���	 � ������=��− � &���	������=	� � 	 � �������+����=��− � �&�	��	��� � �

��������������∋�	���������,�	�����������������	��<	��������	����−��	��������������	��	���������

������� � Λ	����� � 	 � �	����������� � �� � ��	������	� � ���������0 � / � 	�&��� � �	�	− � 	����− � �	�

�	���������� � ������� � ��� � 	������� � ������� � � ��Ο���&��� � ��Ρ	����− � ��� � ����� � �	 � ���	�	�−

�������������	�����������������Λ	���	���0

� � 	����� � &�	���� � ����Λ	� � ���	�	��	� � ���	�	�− � ���	�	��	� � �����	����<	�
��������� � 	 � ���	�	��	� � 
�����− � 	�&	�Λ����	 � &��� � �	 � ����������− � �� ��	���
�	�&�− � 	� � �� � 	�&��� � �	 � Λ	�	���	�	����	 � 	 � &���������	− � ������� � ��
���	������	 � 	� ������	���− � �� � &���	��� � ������� � &���,�	� � &�� ��	�� � �	
�	���<	� � ���	����Ρ	�����− � ������	����� � �� � &����,&�� � 	�����&����0 � _α
����	�&��� � 	���� � ���	��<	� � ��������� � � � �	����� � ��� � ����� � 	������	� � 	 � �
�������	��� � �� � &�&	� � �� � ����������� � 	������ � 	 � ��� � 	�������	�− � ��������
�	������&���������	���<	��&�	�	������9!

Ζ��	�	��+������&	����������Τ�����	���	���	������	����&�	������	�−������������	������

�	����
����� � �	 � ���������� � 	 � �����������− � ���	�������� � � � ������� � �	 � ����� � �Ε�����

���+�����&	���
�����−����	����������������������	������−����������������������	��	������

&�	�	����������Τ�	���	��������−����	−���7�����	��	��������0�

��	���������������	������	��	����������&	�������������Π�	���������	����	�	��	��������

9! ���ΦΒ2−����	�	���56=�6���ε�:= !∀!−�&0�  � 90
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	��������	���	��	��	�����������Π����������������6���������+�����	��	��&���	����������	�0

;+��	���������∋�	��	�����	����������������,��������=���&���	������=	���	�������������

�,�	��	��∋�	�������Λ��−�&��Ε�����	����	��������&�	�	�����������	��∋�	�����&���	������=��

&������������ � ��� � ���Λ� � �������� � �&��&�����0 � ��� � ����� � ����− � Λ+ � &���	������=	� � ∋�	 � �	

���������	�−�&	����	���−�������������<	�−���	��	����Π���	�	������	�����=���&���	������=	�

�	��	���	∋���	��Π�������&������	��∋�	������−�������	�������������Ε�����	�	∋�����7�������

����	Ο����	�+��������+�	��	�&	�,���������������	����������0�5��������������������6�����

(�����	����−�	���������	��������	��	�&���	������=	��������	��	�−�����Ε���Λ������=����	

����������&�����	������	�	����������	������	Κ�	�∋���������������������− ���=���&���	������=	�

�&�	�	����−�	�������������−����������	�&	�������������������&������∋�	����������−�&��	���

�	�����&	�����&������	�����������0

/��	��������	���������&	���Β56���&������∋�	−����	����	��	−�������&	�����	���&�	�	���
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